Prodotto di due polinomi
Periodo 1 - UdA 7-8

Risolvere 1 seguenti prodotti di polinomi

1 (322 —1)(2z — 1) 2] (22* — 22° + 3)(4z + 1)
3] (—4z + 3)(5z? + 1) 4] (3 +2)(222 — 3z — 3)

5] (—2x — 5)(—4z + 2) 6] (=322 4 22 + 1)(—2z + 5)
7] (=5 +4)(32% + 1) 3] (—222 + 32)(3z% — 4z — 2)
9] (Tx — 5)(—x? + 22) [10] (23 + 22+ +1)(2z — 3)
11] (623 4+ 1) (2> + 2z +1) [12] (2?4 2) (=223 + 2%+ —2)

|13] (—2? — 2z +2)(2? — 2) |14 (22 — 3z + 2)(2% 4 2z + 3)
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SOLUZIONI

Prodotto di due polinomi
6% — 322 —2x + 1
Ra” + 2x* — 823 — 222 + 122 + 3
—20a° + 1522 — 4z + 3
2x° — 3zt — 323 + 422 — 62 — 6
82 4 162 — 10
627 — 1922 + 8z + 5
—152* 4 T2* 4 4
—6x* + 1725 — 822 — 6z
—72% +192% — 10z
oxt — xS — -1 —3
62° + 6x* + 625 + 22+ + 1
—22° + 2% — 323 4 22 — 4
— — 2at 4 203 + 202 4 4o — 4
2t — 13— 1?2 — x4+ 6

Periodo 1 - UdA 7-8



